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refractive index of BBO measurement at IR

7

Sellmeier

refractive index of BBO measurement at DUV

1.558 1.67
1.75
-
-
-
m 1.556 1.668
- =
. = / -
F 1554 1.666 o E s ® n, this work
n
g = 2
b= 1 552 1.664 = L7 ® n, this work
- : =
: 1 _-: - n, ref
-
- 1.55 1.662 W =
- n
w 1 fad =
- ° - =
m 1548 this work 166 - b=
- e - = 1.65
=
1.546 1.658 g x.
]
L]
1.544 1.656 ;
1.542 1.654 1.6
0.9 1 1.1 12 1.3 1.4 1.5 1.6 1.7 2.8 3 3.2 3.4 3.6 3.8 4 4.2 4.4
1/wavelength [micron 1] 1/wavelength [micron "
5.2 8 BBO
Estinated dn  /dT from phase difference
BBO 8 293K 226K 20 q210°
. P
| A EET)
AT 60 6 100 - {_ dnojt ——1
Y e 1o
80 v = 3
H R {110
5 - 3 °
6 _fg 60 = J-210°
a ]
226K ] 3106
40—t NA——] o= 293K |
. i J-410°
fitting formula ol . ]
! o) J-510¢
. . i ]
Sellmeier fitting ! e :
0 SPEeal 1.610°
3 32 34 36 38 4 42 4.4
1Iwave|eng(h[micron"]
Ghosh
d |2 |2
no_ 2 2 — —
2n—=GR+HR“+LR; R=—— =
dT ip |2_|2 p |2_|2
eg ip
— 2 — 1 dEeg — 1 Eip 2 2 2
G=-3K = = = PK? gZ=p2-1
E, dT E, dT
fitting 9 Ghosh's formula fitting
110 ° i 110 b
fittin, ° 0
9 g ) G | -4.68x109K-1
_r 110° |
fitting oo
10® \ = | Y P
-210 ° I
L
L= 3107 1
I p 100 m 1 N L [-0412cY
\ -310 ° —
—a10°° - \\
fitting e " \\_\
610 ° 510 °
0 01 02 03 04 05 06 07 0 01 02 03 04 05 06 07 08

H

6.9 105[k1] fitting

H=2.02 103[k1]



dEeg/dT LTO

10-4eV/K nm

Ghosh

fitting formula fromula

formula B -BBO



